ITI Electrician 1st Year Module 6 IE rules on electrical system and Wiring
accessories

(1). What is the minimum cross- sectional area of copper conductor for flexible
cord as per BIS? | BIS & 3{THIR TR s & (oI DI dradex BT FAdH hId-
AR & T 57

(A) 2.5 mm?

(B) 1.5 mm?

(C) 1 mm?

(D) 0.5 mm? é}v

Correct Answer : D Q

(2). What is the permissible leakage curr ﬁbn domestic wiring installation? | Eliq
EIRIRURIIE IR &l’:pilﬁﬁﬁla’a?ﬁ:ﬂq\@??
(A) 1/5 x Full load current E ,\\'

®

(B) 1/50 x Full load curren

(C) 1/500 x Full load c@

(D) 1/5000 x Full load current

Correct Answer : D

(3). What is the test to be carried out by using megger? | ATR BT IGTNT Hh
T Il fhar ST 82

(A) Polarity test | WW
(B) Insulation resistance test | Wtﬂ%@rwﬁ&m
(C) Earth electrode resistance test | H\g@ﬁ@}l—&' INEESIE]



(D) Earth conductor continuity test | HW%TCITCITGIH

Correct Answer : B

(4). Which instrument is used to test new domestic wiring installation? | :I'Q‘EIQT;[

AR RITYHT &7 TRIE0T H= o 7Y fordd SUHRUT T IUANT ot SiTelT g2
(A) Multimeter | HeclHIE

(B) Megger | TR

(C) Shunt type ohmmeter | RiE UBHR 3Ma HicX

(D) Series type ohmmeter | SUN UHR 3fgT Hiex é}’

&

Correct Answer : B

(5). What is the reason of lamp glowing di motor running slow in a domestic
wiring circuit? | TR AR Afdhe | f HH 3R Hiex it 1fa T ge &1
T HRU G2 2N

(A) Open circuitin the neutr@é Yc o i | g el gy

(B) Short circuit betwee %gductors | W%WWW

(C) High value series resistance fault | 3=l HIH Juft gRuy gy

(D) Open circuit in the earth conductor | H\Wﬁﬁﬁmqﬁqﬂ

Correct Answer : C

(6). How the cable size is determined for power wiring? | WW%W
Had BT ATHR H3 Fuffed fovar Srar g2

(A) By the applied voltage | Wm@
(B) By type of load | YR & UHR I




(C) By the load current | A Hic I

(D) By the load power factor | S UTaR Thaex T

Correct Answer : C

(7). Which factor the thickness of insulation layer on cables depends upon? |

HEd! IR IR TR B HeTs fhd R TR [l dxcdl g2
(A) Current | PRC

(B) Temperature | dUHIT

(C) Power factor | TR e &
(D) Voltage | diceol QJ
Correct Answer : D @*

(8). Why pipe jumper is used in wiria Wﬁ@ﬂﬁmﬂm
T 82 ’\\,\

(A) To make holes on wood 5rd | aﬁ%aﬁm@tmﬁ%ﬁvm

(B) To make pilot holes e wall for fixing accessories | Qa@mﬁm
W%WWWU%@?W

(C) To make through holes on the wall | GldR W B¢ ST

(D) To chip the wall for fixing switch boxes | WWW@%%’QQGR
CHERERIE]

Correct Answer : C

(9). What is the formula to find voltage drop of a A.C single phase wiring circuit? |

A.C Thd thol RN URTY & dlec ol UTd B (dbTa- &1 9 a1 8?2

(A) Voltage drop = IR volt



(B) Voltage drop = IR volt
(C) Voltage drop =1/R volt
(D) Voltage drop=IR/2 volt

Correct Answer : A

(10). Which switch is used to control one lamp from three different places? | Udh

< 1 oA faftre =i 9 afad wva & fore g Rag o1 Suaiv fear sar g
(A) Pull switch | EKTW

(B) Intermediate switch | W%Q?%H &
(C) Bell push switch | éagszr%%r QQ/

(D) Toggle switch | €T _dd @\,

Correct Answer : B q
$ Q/i
.\\\
@ .



